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SECTION: A (1x4=4)
1. The pair of linear equations 3x + 2y=

; 2x - 3y=7 have:
(A)One solution  (B) Two solutions (C) Many solutions (D) No solutions
2. For which value of kwill the following pair of linear equations have no
Solution?
3xty=L; (2k-Lxe(k-Ly=2k+1
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In given figure DE|[BC. If AD=1.5cm, BD=3cm & AE=1cm, Find EC.
(A)L5cm  (B)3em  (C)2em  (D)2.5em
4.l triangles are similar.
(A) Right (B) Isosceles (C) Equilateral (D)None of these
SECTION: B (2x2=4)
5. (3)°"7 =81 and (81)*~¥=3 then find x & .
6. In given figure AB|| CD. If OA=3x-19, 0B=x-4, 0C=x-3 and OD=4 find x.
A B

N7

SECTION: C (3x3=9)

7. Anumber consisting of two digits is equal to 7times the sum of its digits. When
27is subtracted from the number, the digits interchange places. Find the
number,





[image: image2.jpg]8. In figure PQ|| AB and AQ || CB. Prove that AR?=PR .CR

9. Solve the following pair of equations by reducing them to a pair of linear

Equations:
1,3 i

3x+y  3x—y 4 2(3x+y)  2(3x-y)

SECTION: D (4x2=8)

10. State and prove Basic Proportionality Theorem.

11. A'man sold a table and a chair together for Rs 850 at a loss of 10% on the
table and a gain of 10% on the chair. By selling them together for Rs 950,
he would have made a gain of 10% on the table and loss of 10% on the
chair. Find the cost price of each.




